Karen buys a frozen Cadbury mousse cake costing £2.49
and some dishwasher tablets for £8.74.
What is the difference in the cost of these item?

The height of a house Is 9.24 metres.
The height of a tree 1s 13.6 metres.
Work out the difference between these heights.

Emily buys a DVD for £12.49 and a CD for £3.72 from shop A.
Mark buys the same DVD for £1.3.28 and the same CD for £3.18 from shop B.
Work out the difference between Emily’s total cost and Mark’s total cost.

Sam went to a supermarket to buy three items.
The first item Sam bought was £8.29.

The second item Sam bought was £6.74.

The total cost of all the three items was £22.39.
What was the cost of the third item Sam bought?



